


	#
	Correct Answer
	Comments

	1
	B: 2 miles
	For every 5 seconds = 1 mile

	2
	FALSE
	Europe and North America are both north of the equator

	3
	B: Ice, liquid water, water vapor
	

	4
	D: Meteorologist
	

	5
	B: Tornado Alley
	

	6
	A: Barometer
	

	7
	C: Lightning heating the air
	Lightning is over 50,000 deg. F.  The rapid heating and cooling of the air essentially causes a sonic boom

	8
	B: Heatstroke
	

	9
	A: December
	

	10
	A: Stronger
	

	11
	B: West
	

	12
	A: Eye
	

	13
	A: Northern Hemisphere
	

	14
	TRUE
	

	15
	D: Freckles
	To clarify: HypOthermia = Cold, HypERthermia = Hot

	16
	C: Hurricane
	

	17
	B: June
	

	18
	D: Hail
	

	19
	B: Tornado
	

	20
	A: Chicago, Illinois
	

	21
	C: Water
	

	22
	D: Storm surges
	

	23
	B: Deserts
	

	24
	C: Hug a tree on a hill
	

	25
	B: 5
	

	26
	A: Enhanced Fujita
	Enhanced Fujita replaced Fujita in 2007, as a more accurate scale

	27
	C: 50,000
	

	28
	A: Smog
	

	29
	C: Hexagon
	6 sides

	30
	B: Flash floods
	The heavy rain isn’t moving anywhere and therefore causes one area to receive high amounts of rainfall

	31
	TRUE
	

	32
	B: Thunderstorm
	

	33
	FALSE
	

	34
	B: 74 mph
	

	35
	C: Front
	

	36
	A: The atmosphere
	

	37
	B: Wind speed
	

	38
	B: Satellite imagery
	

	39
	B: water freezes
	

	40
	A: Humidity
	

	41
	C: Seasons
	

	42
	A: Miami, FL
	

	43
	D: Sun
	

	44
	B: Boils
	

	45
	TRUE
	

	46
	B: Wind Direction
	

	47
	A: June to November
	

	48
	A Temperature
	


